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Q1. (a)
(b)
(c)
(d)
Q2. (a)
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Q3. (a)
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Q6. (a)
(b)
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Note (1) QL. is compulsory, attempt any four out of rema:mngsm\ : 3\
(2) All question carry equal marks. (AR
(3) Answer to sub-questions should be gronped tOgether

Simplify the Boolean function F(A,B CD)= 2(0,3 4, 5,6, ? 9 Il “13 M IS}

draw the logic circuit diagram using the basic logwgaxe SN \“\f ¥ W
Explain Full Adder with Logic diagram. g At REEITS 3

Define flip flop. Explain the working of S]iLFF with logtqdlagtmn, e D
Design a combinational circuit whose output is high for eveq\numhersoﬁ sag L
input. Assume that input to the circuit . ts 4eb1t A3 A2 AI ‘A.O ol gy 2
Compare RISC and CISC architecture. : - &
Explain system bus. Write dlfferent bus a(btu'atloq mc.thods,

Compare and contrast Intcrmpt Drivcn I/O -DMA' and Progmmmed I/O 10
Explain in detail about gstgucﬁon cycle ‘D@w 1ts state dlamm. N G 10

Difference the fouﬂmg «,‘- ;'\,— _,.'- e __i .{- . N o .4 _A"‘ : x ( 7-\ > 20
(a) Micro-Programn _andliardwxredCDnm Umt- Soidei
(b) SequenualandCombmauonaLCxcmt AR Sy SN gt
Explain different RAID levels in detail. - 10
What is an /O Module7 Dlscuss thh Ih¢help pfa dwgmgn, thc funcnomng of 10
/O module. = ‘
What is amﬂuplcxcr‘? Desngn 8: l lmes mulhplexer 10
Explam Qlustercompntcr agchxtecture AN ; ,«"\ 10
'Explam any twomdetaus 20

Ia) DMA T
(Q) Mcmoryhlerarchy )
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N.B.

(a)
(b)

(2)
(b)
(@

®).

cem- £ -0old
(Time: 3 Hours)

(1) Question No. 1 is compulsory. &
(2) Attempt any four from the remaining six questions. &
(3) Figures to the right indicate full marks. :

What is flowchart? Explain its basic symbols wrth'azr' amj
What is a preprocessor, what are the advantages;av I FOCE

What are arrays? Write the syntax to declare, mituﬂweanﬂ
dxmensnonal arrays. \\ N

A
ABA
ABCBA
ABCDCBA
ABCDEDCBA

GO TEFL R ﬁ

e D el N\ ‘
ﬁ;}) i _'6 ﬁﬁtgushge a“fﬂ'—efse"cbgstrucrﬂirough an [10]

What are control statsmgxi
example progmm A\ %

'\‘-*

T:‘ "1 \ :- iy
Clearly dlﬁ'erenﬁate between function tion pr }gfype ﬂmcﬂgndeﬁmﬁon and function  [10]
call along w:than-example L ot S 2

( \f;mciiens \gith‘ﬂfhm‘gtes l; x Dlﬁ'erennate between [10]

tb &

Al X :‘:U
i [10]
fmmgq ng‘ S
< ﬁ)-\“/\ L(j—a)' o _,‘\/‘ ﬁ:\-

[10]

Whatrm li;swe f&nc@ion? V@te a pmgm@ 10 gtemonsuate recursive function. [10]
&p@nﬁnﬁﬁzﬂsi Iljhs;r g.n\mmplé,shucmre initialization. Write the [10]
e &a Sfﬂlctut L D

[20]
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M ¢h / Paper / Subject Code: 55804 / Discrete Mathematics / NO\* ~2PE
Sem--L AN
Duration 3 hours : ) Total"lm-marks
N.B: 1) Question No. 1 is compulsory. -

2) Attempt any four out of remaining six questions.
3) Figures to the right indicate full marks.

Ql. (a) Check whether the following are logically equwalent or not‘ M
p—(~9—p) =~p—(p—9q) o
(b)  Using mathematical induction Show that 4 :" > I : 5
P+2+ i +0? =[o(n+1)2n+D]/6, azl & '
(c)  Obtain the disjunction normal form EA " e T e -
~PV Qe PAQ) - oo Sl
(d)  Suppose that f is defined recurswely by tIO)-—Z and x i A P 5
fin+1) = 3f(n) +2. Find f(l), f(2), f(3) and f(4) ) &
| Q2. (a) LetR bean equiv. relahon on the set A {1 2 3 4. 5} defined by - 10
} R={(1,1),(2.2).(3,3),(4:4).(5.5),(1.4).(4.1), (2,4),(4, 2),(1,2) 2, 1)}
Determine its equwalence classes of R & find A/R.

(b) Let A= {1,2,3, 6 12,18} Cons:der a relatlcn Ron Am aRb lff a 10
divides b’. Show that Ris paxtlal ogder r;'.latlon Draw the Hasse
diagram of Poset (A R} 53 .

Determine the valxdlty of the followmg argument 5
If I go to my class tomorrow then I must getup early, and if I go to
dance tomght I will stay up late. 1 stay up late and get up early,

then [ will be forced to exist on- On!y five hours of sleep. I sxmply

canriot exist on only five hours of sIeep So I must either miss my

class tomorrow or not go to the dance

‘ Determine whether the followmg isa tautology, contradictionanda 5
contingency with the help of truth table

LQ5RAQ)-
Consider (3,6) encodmg functxon e: B’-—»Bﬁ defined by 10
© (000)=000000 e(100)=100 101

e(001)=001100 ~  ¢(101)=1010 01

- ¢(010)=010 011 - e(110)=1101 10

e(011)=0111 11 e(111)=111010
show that ttns encodmg function is a group code.

- Consider (2,4) encodmg function e. 10
¢(00)=0000 e(10)=1011

e(01)=0110  e(11)=1100
~ Find the minimum distance of e. How many errors will e detect?
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Paper / Subject Code: 55804 / Discrete Mathematics

Determine whether the following set together with the bmary :
operation is a sem:group, a monoid or neither. If i it is a monoid,
specify the identity. ifit is a semigroup of a moncud determme
whether it is commutative, ‘

A= set of all positive integers,

a*b=max{ab} ie. bigger of a and b

Let R and S be the following relatmns on A~{I 2.3}

R*-{(l 1) (1 2)(2.3)(3,1)(3,3)} and S—~{(1 2).(1,3),(2,1),3,3)}. Fmd ‘

2 SoS

3. RUS

4. RNS

5. ' :

State the “Tower of Hanon” problam and ebtam the correspondmg
recurrence relation indicating the su1tab]e mmal condltxons(s) Solvc
the recurrence relatlon obtamed - S

Consider groqu {1 2 4 7 8 11 13, 14} under multlpllcanon
modulo 15. ; :

1. Find muluphcatlon tabie uf' G

ii. Find 27,71 17!

iii, Fmd the ordcr of the subgroups generated by 2 7 & il

Let V"{vo, w, a, b, c} S—{a b, c} ot
Let — be the relatmn on V' given by the re]alton :
Iva—aaw 2w—-+bbw‘ 3w

: Conmder the’ phrase structure grammar=(V S va, k)

- Derive the : sentence ab'c Draw the derivation tree.
. Derive the sentence ab%c Draw the derivation tree,
m Denve the sentence absc Draw the derivation tree.

Find. pamcular solu!lon of the recu;rence relation
an - San e 6a,, 2—-8]] '

Perform the followmg
(254)3—(‘7)10
L. (1010, 11)2=(?)10
| 1L (22.34)10+(2),

7--_w 1010 X 1110=7

V. ({_)101_11)2‘(0]001.1)z=?

2K o ok ok ok e o o o ok ok
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(Time : 3 Hours)

N.B.: (1) Question No.1 is compulsory.

(2) Attempt any four questions from question no. 2to 7

(3) All questions carry equal marks.

Define and explain law of supply.

10

b.Define and explain law of demand;

i 10
10
10
10
10
10

20
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Time: 3 Hours Total marks:100
1) Question number] compulsory

2) Answer any four questions out of remaining
3) All questions carry equal marks

Explain level 0 and levell DFD of a Hospltalmﬁ‘nage;ﬁé‘nf‘sygtem_
with a neat diagram : ,g_ & Q) S

£, —w‘

5&:0"

What is feasibility study? Explain dlfferqnﬂ:?ﬁ

Explain Waterfall Model in detail -
Describe the prototype model in detail

ST
Compare and black bp& hshgg_&.ntl’wﬁi

Explain the role ofswgﬁ‘@ggﬁw :?

e “hélp\

5 e N
T A &
T A0
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(3 Hours)
1) Question No.1 is compulsory. S
2) Attempt any four from the remaini g Six questions..

(®) Whatare the various types of lists in HTML? demonstrate cach by taking - (10)
an example of each and show how the lists can be n sted. o '

b i AN
N e g

g,

Differentiate the following,
1. HTML and DHTML y o
2. ASP and Java Script. & & : <

Make a page with a heading and zippwl);wllarge, bold,'iﬁtaiidaﬁ center ;ffect (10)
across the top of the page. Also write a short paragraph for description
of the heading with highlighting something in italics. .~ -«

S

~ <

o N 2

What is CSS? Explain with \smt;isie"'e;;a@lg application of CSS (10)
Containers, Panels, Borders, Alerts, Colors. -7 =@
Discuss the CSS Fonts and explain with suitable example the font size (10)

3 o

classes. .= & s

S RN i P AR Sl s ;
What are Pseudo-classes? Discuss with suitable example, (10)
Explain in detail the ASP Request, Response and Session Object. (10)
'.1-;"_'-;_ S5 ¢ P"w_{‘." ?']fj"‘:::‘)x AN " \JR- Py n-_:\

SEPRIN

the

\ rmat tablzs using basic table tags and different (10)

BT o e AL st
et B, P

Nrite Short Notes on any four: -
- 2).-JavaScript operators
- 8- Web publishing

L - XHTML . <
- & Static and Dynamic Web Pages.
= Forms in HTML.

-

20)
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